Worksheet n°14
http://www.youtube.com/watch?v=k-hEamKsixM

Starters.
1. Tracy Boulay.
height: weight:

job:

Problem with her job?

Main course.
2. What does she suffer from?

3. Fill in the blanks.
Boulay is one of million who the

. That's __ undgsoor more

4. Compare people like Boulay to moderately obese lpeop

of

5. Prevalence of this condition.
20 years ago now

Causes?

6. What has Tracy tried?

Result?

7. What has she decided to do?

Advantage?

8. What has happened in the last ten years?

9. Why is it not a solution for everyone?

Dessert.

Now write an account of this TV report, using the pieces of information from the worksheet

above.

Topping.
10. The stakes!

What is the prevalence of the different forms oésity in France? Why is it a "mind-boggling"

problem? Discuss.



